Enmax

YAMAHA MT-125

2020 >

Montage Scheibe - Screen Instructions

X1

X1

Ermax Scheibe

Halter

Schraube M5 x 20 schwarz

Schraube M5 x 15 schwarz

Kunststoffunterlegscheibe @5

Gummieinsatz @5

6531310

1 PERSON

15

EASY

Allen Key
n°3, 4

O

Ermax screen

bracket

M5 x 20 Black BHC screw

M5 x 15 Black BHC screw

@5 Nylon washer

@5 Rubber insert



YAMAHA MT-125

2020 >

Montage Scheibe - Screen Instructions 6531310

M

~(

‘Demontage - Disassembly
NN
\/};\\

Montage \
Assembly -




	Notice-SV-MT-125-2020-V1-Recto
	Notice-SV-MT-125-2020-V1-Verso

